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Q. Blood grouping was discovered by -
(a) Louis Pasteur

(b) William Harvey

(c) Robert Koch

(d) Landsteiner
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Q. Blood grouping was discovered by -
(a) Louis Pasteur
(b) William Harvey

(c) Robert Koch

(d) Landsteiry/
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Q. Enzymes are basically -
(a) Fats

(b) Sugars
(c) Proteins

(d) Vitamins
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Substrate

Q. Enzymes are basically -
(a) Fats sl 8
(b) Sugars

(c) Proteins

(d) Vitamins
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Q. Oxygen, which is liberated during p
(a) Water
(b) Nitrogen

(d) Phosphoglyceric acid

h\({tosynthesis, comes from

(c) Chlorophyll j\ d h + oL N e« 59/
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Q. Oxygen, which is liberated during photosynthesis, comes from
(a) Water

(b) Nitrogen

(c) Chlorophyll

(d) Phosphoglyceric acid
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Q. Which of the following vitamins contain cobalt -
(a) Vitamin B-6
(b) Vitamin B-2 — Qi\)ogﬁovi\(\

(c) Vitamin B-1 > T hio~mi~ae

(d) Vitamin B-12 ——— o\ o
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Q. Which of the following vitamins contain cobalt -
(a) Vitamin B-6

(b) Vitamin B-2

(c¢) Vitamin B-1

(d) Vitamin B-12
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Q. Which one (
(a) Ribosome

(b) Chloropl

(c) Lysosome
(d) Golgi com
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Q. Which one of the following is considered as a cell within a cell?
(a) Ribosome

(b) Chloroplast

(c) Lysosome

(d) Golgi complex
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Normal vision

Q. A person with vision defedt “Myopia”
(a) Nearby objects rly
(b) Distant objects clearly

(d) Neither nearby nor distant objects clear

ﬁ Correction
6\ with lens
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Q. A person with vision defect “Myopia” can see -
(a) Nearby objects clearly(Nearsightness)

(b) Distant objects clearly

(c) Nearby as well as distant object clearly

(d) Neither nearby nor distant objects clearly
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Q. Newton’s law of gravitation is called universal law because:
(a) force is always attractive
(b) it is applicable to lighter and heavier bodies O

(c) itis applicable at all times AN -
(d) itis“applicable at all places of universe for all distances between all particles
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Q. Newton’s law of gravitation is called universal law because:
(a) force is always attractive

(b) it is applicable to lighter and heavier bodies

(c) itis applicable at all times

(d) it is applicable at all places of universe for all distances between all particles
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(a) Will decrease ~ —

(b) Will increase — |0oCc— | O <\ O}%
(c) Will remain unchanged , \
(d) Can increase or decrease ( /,_: ’3 - ES
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Q. The leaning tower of Pisa does not fall because:
(a) itis tapered at the top

(b) it covers a large base area

(c) its centre of gravity remains at the lowest position |

(d) the vertical llt;l{through the centre of gravity of
the tower falls v,/e in the base .
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Q. The leaning tower of Pisa does not fall because:
(a) itis tapered at the top

(b) it covers a large base area

(c) its centre of gravity remains at the lowest position =
(d) the vertical line through the centre of gravity of the-;.;_,u,
tower falls within the base i
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Q. What is the speed-of light in vacuum?
(a) 3.0 x 108 m

(b) 2.7 x 108 m/s

(c) 3.9 x 10 m/s
(d) 2.2 x 10° m/s C%X)o ﬂm/& %)OQeoéo;:I \fo((umr)

g frata & garer Y A frae A &2 \

(T) 3.0 x 10° TH/TH
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(#) 3.9 x 108 TA/TH
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Q. What is the speed of light in vacuum?
(a) 3.0 x 108 m/s
(b) 2.7 x 108 m/s
(c) 3.9 x 108 m/s
(d) 2.2 x 108 m/s
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Q. A body is in a state of rest at infinite distance. If it is made a satellite of earth,
which of the following physical quantities will be reduced:
(a) Gravitational force

(b) Kinetic energy
(c) Potential ener

s x
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Q. A body is in a state of rest at infinite distance. If it is made a satellite of earth,
which of the following physical quantities will be reduced:

(a) Gravitational force

(b) Kinetic energy

(c) Potential energy

(d) Mass

. Th RN Ied gff I IR A Bufa & &1 Il 38 gt F71 399@ 7 o=
st Y Aefaf@a & @ sla-dt sifds afr s g see:
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Q. A sample of gas is a he temperature at which its rms speed of the
092 (D
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Aj% |
Q. If a hift is moving up with/a uniform speed the apparent weight of a body in the
lift will be: —

(c) Higher than the true weight
(d) Zero

(a) Equal to the true w‘y{( |
(b) Less than the true weéight T%?/\ LO /\\
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Q. If a lift is moving up with a uniform speed the apparent weight of a body in the
lift will be:

(a) Equal to the true weight

(b) Less than the true weight

(c) Higher than the true weight

(d) Zero
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Q. 1 kilowatt hour =
(a) 3.6 x 10° Joulé
(b) 36 x 10° Joule
(c) 3.6 x 108 Joul

(d) 36 x 10° Joule S+ & W

£2)
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() 36 x 10° Fter
(#) 3.6 x 108 Siter
(31) 36 x 108 Fler
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Q. 1 kilowatt hour =
(a) 3.6 x 10° Joule
(b) 36 x 10° Joule
(c) 3.6 x 108 Joule
(d) 36 x 108 Joule

q.1 fhdlae ger =
(W) 3.6 x 10° Fter
() 36 x 10° Fter
(#) 3.6 x 108 Siter
(31) 36 x 108 Fler
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Q. A man is standing on a boat in still water. If he walks towards the shore the

boat will: —~

(a) move towards the sho %

(b) move away fro;&e//clzre _ I /AL\ /
e

(c) remain stationary

(d) sink = ’__[ )\cu,:)
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Q. A man is standing on a boat in still water. If he walks towards the shore the
boat will:

(a) move towards the shore

(b) move away from the shore

(c) remain stationary
(d) sink

Y. T TCHY ATd STl H o9 9 @31 ¢l If¢ a8 frary &Y 31X Iorar § o o9
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Q. A man inside a moving train tosses a coin, the coin falls behind him. The train

is moving:
(a) forward with a uniform speed
(b) backward with a uniform s

f

veed
(c) forward wit r@
(d) forward with actelers | -
q. gddl & H U HGHl v RAFdr 3omadar g, R TF AR e g1
&oT el @l &
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Q. A man inside a moving train tosses a coin, the coin falls behind him. The train
is moving:

(a) forward with a uniform speed

(b) backward with a uniform speed

(c) forward with deceleration

(d) forward with acceleration

Y. gddl e H UF HeHAl vk RFdr 3omear 8, Rewr 396 fF @i aar 2
&l Tl T ¢

(T) T HATT I & HTT 3T
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(b) 4 minute

(c) 15 minutes
(d) 56 minutes

9. & 3tad
(T) 1 A«e
@) 4 A=e

Q. The difference in the length of a mes nd a sidereal day is about:
(a) 1 minute S\/ /
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Q. Fatho‘nll is the unitof:
(a) Sound 9 ceil,d o
(b) Light

(XDenti >y
(dthese
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Q. Fathom is the unit of:
(a) Sound

(b) Light

(c) Depth

(d) None of these
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Q. The angle subtained by a coin of radii 1 cm held a a distance of 80 cm from
your eyes is:

more”  O=oxc —0

(c) 0.0125° Sodliv~

(d) 0.025° Q D2

¥. 3T i sowﬁ:%wmﬁ1@ﬁrﬁm$wﬁwa§m
FATIT IAT (0T & L Rx | T

(T) 1.43

(&) 0.0125 it
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@ction of a rake angle on the flute of a tap is used to reduce the required:
(a) Torque

(b) Speed

(c) Length

(d) None of these

Y. Th o $ SHA W IF HIOT HT FA HMERIF H A F & @0 B e
g
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